| 3 semEosszt |

3—1 “EItHRBEOCEFHEORELELN) (—#&JmSO,)
AN NS S

g | N | wEm | b e e e
£ X X X X )X
2| BHEf 1B FH 7 {¥ |0.001 | 0.001 | 0.001 | 0.001 | 0.001
Pl 2|V LRI A £ | 0.002 | 0.001 | 0.001 | 0.001 | 0.001
. e 3|k EEA £ | 0.004 | 0.003 | 0.003 | 0.003 | 0.003
4lFRE=E £ | 0.004 | 0.004 | 0.005 | 0.004 | 0.004
# 5[fA AR A P4 | 0.001 | 0.001 | 0.001 | 0.001 | 0.000
AT 6| A& £ | 0.001 | 0.001 | 0.001 | 0.001 | 0.000
7T K {¥ |0.002 | 0.002 | 0.002 | 0.002 | 0.002
8|11 K EF £ |1 0.001 | 0.001 | 0.001 | 0.001 | 0.001
nisliGii o i IIA )\ 1 £ | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
= 10( i) 1A THEBR AT £ | 0.002 | 0.001 | 0.002 | 0.002 | 0.001
2 112 5% 7§ | 0.001]0.001 | 0.001 | 0.001 | 0.001
12 |fiEEIN £ 10.001 | 0.001 | 0.001 | 0.001 | 0.001
G T 13|MfE s Z DA | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
14|t ER S £ | 0.002 | 0.002 | 0.002 | 0.002 | 0.002
EE 2Nl 15|87 R HIR Z< | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
B 16| 8 EHEAR Z | 0.002 | 0.002 | 0.002 | 0.002 | 0.001
1735 0y g B {¥ |0.004 | 0.004 | 0.004 | 0.004 | 0.003
18| FHESE R £ | 0.002 | 0.002 | 0.002 | 0.002 | 0.002
19| TEHEF A £ | 0.002 | 0.002 | 0.002 | 0.002 | 0.001
20 T¥ETIHA £ 10.002 | 0.002 | 0.002 | 0.002 | 0.001
T 21 FFEE £ | 0.002 | 0.003 | 0.003 | 0.003 | 0.002
TEf 22| TESH £ 1 0.002 | 0.002 | 0.002 | 0.002 | 0.002
e 23| THARER £ 10.002 | 0.002 [ 0.002 | 0.002 | 0.003 |
24| TIEAR £ | 0.002 | 0.002 | 0.002 | 0.002 | 0.002
25 [ TF-HERAHME £ | 0.002 | 0.002 | 0.002 | 0.002 | 0.001
26| THEEW £ 10.002 | 0.002 | 0.002 | 0.002 | 0.001
e 27\ Ve BT Z DA | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
28 [T\ £ | 0.004 | 0.004 | 0.004 | 0.002 | 0.001
29| TR A H: £ | 0.004 | 0.005 | 0.002 | 0.002 | 0.002
30| i) | £ 10.005 | 0.005 | 0.006 | 0.003 | 0.002 |
31|miE R E < | 0.002 | 0.002 | 0.002 | 0.002 | 0.002
0 R R2|hFREA £ | 0.002 | 0.001 | 0.001 | 0.001 | 0.001
33| A K £ 10.002 | 0.002 | 0.002 | 0.001 | 0.002
34T A IR Ve #:T | 0.003 | 0.003 | 0.003 | 0.003 | 0.002
35| RERA £ | 0.003 | 0.004 | 0.004 | 0.004 | 0.004
i 36| 7= £ [0.001 | 0.001 | 0.001 | 0.001 | 0.001
o 37 [l T i £ | 0.003 | 0.002 | 0.002 | 0.002 | 0.002
38 [l IR R £ | 0.002 | 0.002 | 0.002 | 0.002 | 0.002
GiiaCin 39| T A 10.003 | 0.003 | 0.002 | 0.002 | 0.002
A0\l i = ME Z 10.001 | 0.001 | 0.001 | 0.001 | 0.001
N Eaiatiits A # 10.001 | 0.001 | 0.001 | 0.001] 0.001

PE#) 1. () PNITAFETEIA b E IRF T 0036, 00 0 PR F] A Tt

2. RAFARNE

115



3—1 :Eg{ﬂ: JlLﬁa)ﬂizFi’ﬂ‘“E@ﬁﬂ5§1t (2)

(— i J5SO,)
Hh . [ FHi& ) E(ppm)
Sk il No Wie R HilER | 244F S | 254F B [ 264F 5 | 2 T4FJE | 284F J&
42 [ REE £ | 0.002 | 0.002 | 0.002 | 0.002 | 0.001
AR A3 R EERE Z | 0.002 | 0.001 | 0.002 | 0.002 | 0.002
ey 44 R HYE R G {£ 10.002 | 0.001 | 0.001 | 0.001 | 0.001
45 | B H AR 74 | 0.002 | 0.001 | 0.001 | 0.001 | 0.001
46 | H £ | 0.002 | 0.002 | 0.002 | 0.001 | 0.002
e 47\FE= T | {E ]0.001|0.001 | 0.001 | 0.001 | 0.001
‘ 48| FH N A T | 0.005 | 0.005 | 0.004 | 0.003 | 0.003
e 49 | H AR < | 0.000 | 0.001 | 0.001 | 0.001 | 0.001
50| & HL g H & |0.001 | 0.001 | 0.001 | 0.001 | 0.001
[=RE 1] 51| & HE NAREY {¥ | 0.006 | 0.003 | 0.003 | 0.003 | 0.003
T 52| & HUF S & 10.001 | 0.001 | 0.001 | 0.001 | 0.001
A 53| 7 BUHT 7 1(0.001){(0.002) | 0.003 | 0.003 | 0.002
o 54| FE TR £ |0.001 | 0.001 | 0.001 | 0.001 | 0.001
N ko 55|#k1-2% {¥ | 0.001 | 0.001 ] 0.001 {(0.001)| 0.000
% 56 | Ak FH RIE 7K # 10.001 | 0.002 | 0.002 | 0.002 | 0.002
F% H T 57 [k H A Z |0.001 | 0.001 | 0.001 | 0.001 | 0.001
H 58 | 3k FH N LT {¥ | 0.001 | 0.001] 0.001 | 0.001 | 0.001
EOvE | ENde 59| F[I7E = AL {¥ |0.003 | 0.001 ] 0.001 | 0.001 | 0.001
FA-mmm| —maT 60| — B HIR A & 1 0.001 [ 0.001 | 0.001 | 0.001 | 0.001
ks | AR 61| fif LI JE % | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
i T e A A £ 1(0.002)
B R 74 | 0.005 | 0.004
TR £ | 0.003 | 0.003 | 0.002
B B/ INAR £ 10.002 | 0.002 | 0.002
Bé R i & ] 0.0020.001 | 0.001
(SR >=2"1 A 10.001|0.001 | 0.001
BIEeR & 10.002 | 0.002 | 0.003
1k =il e A (£ | 0.005 | 0.001 | 0.000 [(0.000)
A AvIL] I\ TR B £ ]0.002 | 0.001 [ 0.002 | 0.002
i H A % 10.001 | 0.001 | 0.001 |(0.001)
J& N T JEUARA IR % | 0.001 | 0.001 | 0.001 |(0.001)
Y Z DAl | 0.002 | 0.002 | 0.002 {(0.002)
il IR il ) | RS < 10.001 | 0.001 [ 0.001 | 0.001
il FEIAR % 10.001 | 0.001 | 0.000 | 0.000
&% H Ei 2% - & 10.001]0.001(0.001]0.001
WL (A ZhiEE ) 0.002 | 0.002 | 0.002 [ 0.002 [ 0.002
= _ T g HHEESO,)
4 N FHi P fE(ppm
1% AT | No HER sl (244 [254E i [064E 5 [ 2 TAE I [284F
il T S 1| 5 () £ 10.005 | 0.005 | 0.005 | 0.004 | 0.005
Ji | T LRl R ) £ 10.002 [ 0.002 ] 0.002 | 0.002 [ 0.002
WS B (A 2 &) 0.004 | 0.004 [ 0.004 | 0.003 | 0.004
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3—2 “HIEERODEFHEDEELILA) (—f&JFNO,)
i . - Fig il (ppm)
g | T | No RER sty [ 2a4E s | 254 | 26450 | 2T4EFE | 284
LS W 1|85 HH A E fE 0.012 | 0.012 | 0.012 | 0.010 | 0.010
H 2| B 1 5 B x 0.015 | 0.015 | 0.014 [ 0.015 | 0.013
LT 3|V B £ | 0.018 | 0.017 | 0.017 [ 0.017 | 0.015
- o 4|FkEH £ 0.015 | 0.014 | 0.014 | 0.013 | 0.012
S[MaRE ES 0.015 | 0.014 | 0.014 | 0.013 | 0.013
& 6 [FA T ARA 75 | 0.019 | 0.018 | 0.017 | 0.017 | 0.015
=l ULAEE f£ | 0.015 | 0.015 | 0.014 | 0.013 | 0.013
AR x 0.016 | 0.016 | 0.015 [ 0.015 | 0.013
9|13/ % | 0.017 | 0.017 | 0.017 | 0.016 | 0.015
10| — 4% #¥T | 0.022 | 0.021 | 0.021 | 0.020 | 0.019
(AT O ANARELIPN S £ ] 0.012 | 0.014 | 0.014 | 0.013 | 0.013 |
12| A £ | 0.017 | 0.017 | 0.016 | 0.016 | 0.015
13| AT BRI fE 0.017 | 0.018 | 0.017 | 0.017 | 0.016
T NS ES ] 0.019 | 0.019 | 0.019 | 0.019 | 0.017
15| ETN £ | 0.015 | 0.015 | 0.016 | 0.015 | 0.014
e 16| e Zofh| 0.012 | 0.011 | 0.011 | 0.011 | 0.010
B A L 5 £ ] 0.013 | 0.013 | 0.013 | 0.013 | 0.013 |
sk 18| ARG E AR ZOf| 0.016 | 0.015 | 0.015 | 0.015 | 0.014
19|fistE s AR & fE 0.013 | 0.013 | 0.014 | 0.014 | 0.013
. 20(eHEATE ] {t ] 0.016 | 0.014 | 0.015 | 0.014 | 0.013 |
] 21 | FE R % | 0.021 | 0.019 | 0.019 | 0.019 | 0.018
22| B AT £ | 0.018 | 0.018 | 0.018 | 0.018 | 0.017
2 vl 23 |8 AN & ] 0.014 | 0.013 | 0.013 | 0.013 | 0.012
e 24|\ TR = £ | 0.013 | 0.013 | 0.012 | 0.012 | 0.011
25\ TARCKA fE 0.013 | 0.013 | 0.014 | 0.011 | 0.010
268 EEHER & | 0.014 | 0.013 | 0.013 | 0.013 | 0.012
HER 27 | E B RO E fE 0.013 | 0.013 | 0.013 | 0.012 | 0.012
28| B B £ | 0.018 | 0.018 | 0.019 | 0.018 | 0.016
29| FHEFE RN * 0.014 | 0.014 | 0.013 | 0.013 | 0.012
30| 2R )1 £ | 0.016 | 0.015 | 0.015 | 0.014 | 0.013
| SLTEELE {£_].0.016 | 0.016 | 0.015 | 0.013 | 0.012 |
2| TEEEA # | 0.019 | 0.019 | 0.019 | 0.016 | 0.016
T 33| TERE £ | 0.011 | 0.010 | 0.010 | 0.009 | 0.009
I M| TETHE | £ ].0.013 | 0.012 | 0.011 | 0.010 | 0.010 |
T 35| FHERB DA # | 0.011 | 0.010 | 0.010 | 0.009 | 0.009
36| THEZ)I| % | 0.017 | 0.016 | 0.016 | 0.015 | 0.014
R 7| TSI | fE [0.016 | 0.015 | 0.014 | 0.014 | 0.014
38| THERFF £ | 0.016 | 0.015 | 0.015 | 0.015 | 0.014
39| TEHL f£ | 0.015 | 0.015 | 0.015 | 0.014 | 0.013
pa | AO|TEERME | fE | 0.009 | 0.008 | 0.007 | 0.007 | 0.007 |
41| THEERY £ | 0.016 | 0.015 | 0.015 | 0.014 | 0.015
PUEIE TH A2 | VOB E REE fE 0.012 | 0.012 | 0.012 | 0.011 | 0.011
A3 AT R ETH Zof| 0.010 | 0.009 | 0.008 | 0.008 | 0.008
e A4\ - ZOf| 0.010 | 0.010 | 0.008 | 0.009 | (0.009)
45 | A E AT ZOf] 0.012 | 0.011 | 0.011 | 0.010 | 0.010
46 |17\ % f£ | 0.013 | 0.012 | 0.012 | 0.011 | 0.011
47| FH S £ | 0.013 | 0.013 | 0.012 | 0.013 | 0.012
A48 | T At 4 1.0.012 | 0.011 | 0.011 | 0.010 | 0.010 |
49| H R & | 0.010 | 0.010 | 0.009 | 0.009 | 0.009
50| i i % | 0.009 | 0.009 | 0.008 | 0.008 | 0.008
tigti U TERE R £ 10.010 | 0.009 | 0.009 | 0.008 | 0.008 |
52| Ak £ | 0.010 | 0.009 | 0.009 | 0.008 | 0.008
53| IR 2 | 0.007 | 0.006 | 0.006 | 0.005 | 0.006
54| i JUE W 7Y ¥T | 0.016 | 0.016 | 0.016 | 0.015 | 0.015
55 |THJFARA £ | 0.010 | 0.011 | 0.010 | 0.009 | 0.010
56 | 2 ZOf| 0.005 | 0.005 | 0.004 | 0.004 | 0.004
57| iR £ 1 0.007 | 0.006 | 0.006 | 0.005 | 0.005
(f%5) 1. O ) PIRAERA 2 HIE R R 20036, 000 IRE 2R3
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3—2 “EBILEROEFHEORELEL(2) (—#%JANO,)
Hh L [ Fik NI fE(ppm)
pp | M| No HE Motk | 2a%EE | 25455 | 264ERE | 274 | 284EfE
58|t 7Y 7 i £ 0.013 | 0.012 | 0.012 | 0.012 | 0.011
59|l 7T = I (Ea 0.014 | 0.014 | 0.013 | 0.012 | 0.012
i B0 AN | ZA&..1.0.012 | 0.011 | 0.009 | 0.010 | 0.010
W 61|t i =1 & | 0.010 | 0.009 | 0.009 | 0.008 | 0.008
62 [l 7 iH TR F | 0.012 | 0.011 | 0.010 | 0.010 | 0.010
N N 63| fl i B Z~...1.0.008 | 0.008 | 0.007 | 0.007 | 0.006 .
64 |l IH A F | 0.008 | 0.008 | 0.008 | 0.007 | 0.007
65 | 7 R PN 0.008 | 0.007 | 0.007 | 0.007 | 0.007
66 | A ST H g £ | 0.011 | 0.011 | 0.011 | 0.010 | 0.010
67 [ B g & | 0.011 | 0.010 | 0.011 | 0.011 | 0.010
ANHHEAT 68| A GRS | {£.1.0.010 | 0.010 | 0.010 | 0.009 | 0.009
p e 69 [ A B AL IR £ | 0.010 | 0.009 | 0.010 | 0.009 | 0.009
70K HEE A {£ | 0.007 | 0.006 | 0.006 | 0.005 | 0.006
TL{HHEALR 7§ | 0.011 | 0.010 | 0.010 | 0.009 | 0.009
72| B HES H £ | 0.013 | 0.012 | 0.012 | 0.011 | 0.011
T L IB|AEEEE R | ]1.0.008 |(0.006) | 0.007 | 0.007 | 0.006
iEis T4\ FHE R T 0.015 | 0.014 | 0.014 | 0.014 | 0.014
75| B HAEH & | 0.007 | 0.005 | 0.005 | 0.005 | 0.005
76| FHEH & | 0.007 | 0.007 | 0.006 | 0.006 | 0.006
[=RE 1] 77| = T AR £ 0.013 | 0.012 | 0.012 | 0.011 | 0.011
it 78| FHHUM IS Z | 0.006 | 0.006 | 0.005 | 0.005 |(0.005)
FHh 79| FEHUHT & | 0.007 | 0.007 | 0.005 | 0.007 | 0.005
gox 80[F BRI £ | 0.007 | 0.007 | 0.006 | 0.006 | 0.006
R 81 gk 12 (£ (0.006) | 0.005
% 82 Ak H KIEAK 4 | 0.009 | 0.010 | 0.009 | 0.009 | 0.008
e 83 |k HIE 4 F | 0.007 | 0.007 | 0.007 | 0.006 | 0.006
m | BA[ARHINERS | £ _].0.009 | 0.009 | 0.009 | 0.008 | 0.008 |
85 |k HZs 1+ < | 0.006 | 0.006 | 0.006 | 0.006 | 0.005
N FO e 86 |FIVE 4L £ | 0.011 | 0.011 | 0.011 | 0.010 | 0.009
G5 % il 87|F R i & £ | 0.010 | 0.010 | 0.010 | 0.009 | 0.009
i H3E 88|HHLRE B2 0.014 | 0.013 | 0.013 | 0.012 | 0.012
Sl 89T RE {£__| 0.008 | 0.008 | 0.008 | 0.008 | 0.008
Juo| mEET 90| [ifi BEbE 4 | 0.006 | 0.006 | 0.005 | 0.005 | 0.005
T+ BT 91 (B2 ki & | 0.007 [ 0.006 | 0.006 | 0.006 | 0.006
Ju | \fH 92|\t )\ 1 B2 0.009 | 0.009 | 0.009 | 0.008 | 0.008
H | #Hed 93| H 4 - {£__| 0.008 | 0.008 | 0.007 | 0.007 | 0.007
B SR 94 /%25 5 il x® 0.009 | 0.008 | 0.007 | 0.007 | 0.006
Fop — BT 95 = R A # | 0.005 | 0.005 | 0.004 | 0.004 | 0.005
PSR 96 I/ NPT A | 0.004 | 0.004 | 0.004 | 0.003 | 0.003
m | AE LT o7 [fE (R # | 0.005 | 0.005 | 0.004 | 0.004 | 0.004
| SREEHT 98|95 F{E/A M & | 0.006 [ 0.007 | 0.007 | 0.006 | 0.006
(G- ] 0.011 | 0.014
[543 BT E] £ 0.009 | 0.007 | 0.009
TRy A {£..1.0.008 | 0.007 | 0.008 | .
B LA ] & | 0.008 | 0.007 | 0.008
1k B AU IR # | 0.007 | 0.006 | 0.004
SR & | 0.007 | 0.008 | 0.009
£z, il Bk R {E 0.007 | 0.007 | 0.007 |(0.005)
| ERUL FEIKA s | 0.006 | 0.006 | 0.005 | 0.005
2 LT 2l % | 0.008 | 0.008 | 0.008 | 0.007
FSEE CH 2 HE ) 0.012 | 0.011 | 0.011 | 0.010 [ 0.010
(%) 1. () PNIRAFEREA 20 E R 250036, 00 0 B A
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3—2 ZRIEEXROFFEHENRFLEL(3) (A FERINO,)
H L S JiEBeS LY fE(ppm)
3 il No HER HJEk | 2445 | 2547 B | 2645 B | 2 TAEE | 284F JiE
iy 8y 1% HH = iRy () & 10.0310.030 [0.029 |0.031 |0.028
IR ] 2|V LA A () £ |0.015 | 0.015 | 0.014 |0.015 |0.012
H 3| FANE(HE) £ | 0.026 | 0.026 [0.025 |0.024 |0.021
FaTH AR v (EE) f£ |0.019 | 0.019 |0.018 |0.019 |0.017
2 5[ FREE S e (H) £ ] 0.026 | 0.025 |0.025 |0.024 |0.023
KA T 6|1 T AR (L) 7g | 0.028 | 0.027 |0.027 |0.025 |0.022
7| ) () pE | 0.024 | 0.023 |0.022 |0.022 |0.021
B | I 8| miJIATHE(E) £ ]0.022 | 0.021 [0.021 |0.021 |0.019
9| i) 114 = (H) £ ]0.019 | 0.020 |0.019 |0.019 |0.017
2 10| 7H 22 () f£ | 0.022 | 0.021 [0.021 |0.021 |0.021
Pera 11 | A v (E) YT | 0.024 | 0.024 [0.024 |0.023 |0.021
12|58 H D H(FE) #: T | 0.029 | 0.028 [0.028 |0.027 |0.025
e DT 13\ TR F () | 0.015 | 0.015 | 0.015 | 0.014 |0.014
HEHH 14 | = E B RKE(ER) f£ ]0.021 | 0.021 [0.022 |0.021 |0.020
15| THE T ) pE | 0.024 | 0.025 |0.024 |0.020 |0.017
T 16| T3 TR & (E) f£ 10.024 | 0.024 |0.023 |0.022 |0.021
TEEH 17| T3 Je(H) 75 | 0.026 | 0.026 |0.024 |0.024 |0.022
18| THE = B A (H) f£ 10.023|0.023 |0.021 |0.021 |0.017
4 19| THEEH () P5 | 0.024 | 0.023 |0.023 [0.022 |0.022
e 20| A 1 E(H) £ |0.023 | 0.021 {0.021 |0.020 |0.019
i iR 21 | R HE(ED) £ |0.014 | 0.013 |0.013 |0.012 |0.012
E | e 22 %ﬂa&i@%&.fﬁ(i) £ | 0.016 | 0.015 | 0.015 |0.014 |0.013
23|l K AR (D) | Zoofh | 0.009 | 0.010 | 0.011 [0.011 [0.009
A K 24| K HE HERE VE (F) f£ |0.019 | 0.018 |0.018 |0.016 |0.015
HE 25 [ R A4 (H) Z®fh| 0.012 | 0.011 [0.011 |0.011 |0.011
piH | Rk T 26 | i H AE IR () £ |0.018 | 0.018 |0.018 |0.018 |0.016
BEILR| Sk i Bl ) & () Z®fh| 0.015 | 0.014 [0.014 |0.014
VS48 (A 2hE ) 0.021 | 0.021 | 0.020 | 0.020 | 0.018
PEB) 1. () NIXFRA 20 E RERE0036, 000 RE [ A T
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3—3 —BIELEZOETHEDRELILA) (—i¥JENO)
H . i ) fE (ppm)
e | T No HER s | 20 | 250k | oeins | 27HIE | 08fE
. 1|7 /A 1 0.004 | 0.005 | 0.003 | 0.004 | 0.003
H 297 FH 5 (£ 0.006 | 0.006 | 0.005 | 0.004 | 0.004
i 3| G {E 0.010 | 0.009 | 0.008 | 0.007 | 0.006
s | AlHKAE R 1 0.006 | 0.005 | 0.004 | 0.003 | 0.003
5K {E 0.006 | 0.006 | 0.005 | 0.005 | 0.004
I 6|k R A P4 0.006 | 0.006 | 0.005 | 0.005 | 0.004
FAF UUSRERE 1 0.005 | 0.004 | 0.004 | 0.003 | 0.003
8l VA (£ 0.006 | 0.006 | 0.005 | 0.005 | 0.004
o711 E 0.006 | 0.005 | 0.005 | 0.004 | 0.004
10{ )1 —{% #7T | 0.012 | 0.011 | 0.010 | 0.008 | 0.008
[EPA Lo NN S S (£ 0.005 | 0.004 | 0.004 | 0.003 | 0.004
IEIN { 0.006 | 0.006 | 0.005 | 0.005 | 0.005
13| i) AT HR Al {E 0.007 | 0.005 | 0.005 | 0.004 | 0.005
izt 142t &2 P 0.008 | 0.007 | 0.006 | 0.005 | 0.006
15| # BRI {E 0.006 | 0.005 | 0.004 | 0.004 | 0.004
] 16| i e Zof| 0.004 | 0.004 | 0.003 | 0.003 | 0.003
B A 12 W (£ 0.006 | 0.005 | 0.005 | 0.004 | 0.004
P 18| HHE R Zof| 0.009 | 0.009 | 0.007 | 0.007 | 0.007
190G iR & {E 0.006 | 0.005 | 0.004 | 0.004 | 0.004
20 mtEetE ] (£ 0.005 | 0.004 | 0.004 | 0.003 | 0.003
i 20| B {E 0.009 | 0.008 | 0.007 | 0.007 | 0.007
22| kG R ACHT {E 0.008 | 0.008 | 0.007 | 0.007 | 0.006
PR 23| IR % 0.006 | 0.005 | 0.005 | 0.004 | 0.004
- 24| )\ TR s 0.005 | 0.004 | 0.003 | 0.003 | 0.003
25\ kA 1t 0.006 | 0.005 | 0.005 | 0.003 | 0.004
26| BEHER * 0.004 | 0.003 | 0.003 | 0.003 | 0.004
B EE 27| E R O A {E 0.004 | 0.003 | 0.003 | 0.003 | 0.002
28| EI A {E 0.008 | 0.007 | 0.007 | 0.006 | 0.005
29| T-#4E FL)I| £ 0.006 | 0.005 | 0.005 | 0.004 | 0.004
30| T-#Ek R 1| {E 0.005 | 0.004 | 0.004 | 0.004 | 0.004
_________ yFHEME | fE | 0008 | 0.007 | 0.006 | 0.005 | 0.005
32| THEE A {E 0.010 | 0.009 | 0.008 | 0.007 | 0.007
T 33| THERE 1 0.004 | 0.003 | 0.003 | 0.003 | 0.003
I M THEHE | (S0 0.005 | 0.005 | 0.004 | 0.004 | 0.004
T 35| T#E 51D 2 BF £ 0.003 | 0.002 | 0.002 | 0.002 | 0.002
36| 15| £ 0.006 | 0.005 | 0.005 | 0.005 | 0.004
37| THEA I fE 0.006 0.005 0.004 0.004 0.004
38| T H a5 T ;s 0.009 | 0.007 | 0.006 | 0.006 | 0.005
39| THEH) {E 0.008 | 0.006 | 0.005 | 0.005 | 0.005
- R S A0[ THERHE | {EEO 0.002 | 0.002_ | | 0.001 | 0.001 | | 0.001 |
41| THEETHD {E 0.005 | 0.004 | 0.004 | 0.004 | 0.004
DU A3 i 42| DU 3 £ 0.005 | 0.004 | 0.003 | 0.003 | 0.003
43| A JEU T Zof| 0.003 | 0.002 | 0.002 | 0.002 | 0.001
il 44| IR Zoft| 0.003 | 0.002 | 0.001 | 0.002 | (0.002)
45 |1k B E R Zofih| 0009 | 0.007 | 0.007 | 0.007 | 0.008
46| 5\ % {E 0.006 | 0.005 | 0.004 | 0.004 | 0.003
47| A £ 0.005 | 0.004 | 0.003 | 0.003 | 0.003
48 | i 5 fifiles {E 0.004 | 0.003 | 0.003 | 0.003 | 0.003
ifi 49| i+ * 0.003 | 0.002 | 0.002 | 0.002 | 0.002
50| L H A 5 0.004 | 0.003 | 0.003 | 0.003 | 0.003
——. s1|iiFRER fE 0.003 | 0.003 | 0.002 | 0.002 | 0.002
52/ i 54 K {E 0.002 | 0.002 | 0.002 | 0.001 | 0.001
53| ifi kAR 5+ 0.002 | 0.001 | 0.001 | 0.001 | 0.001
J5t 54/ i [ IR 75 # T | 0.006 | 0.006 | 0.005 | 0.005 | 0.005
55/ i JFURA s 0.003 | 0.003 | 0.002 | 0.002 | 0.002
56/ ifi J5 1 Zof| 0.001 | 0.001 | 0.001 | 0.001 | 0.001
S57|EZER fE 0.002 0.001 0.001 0.001 0.001
(f#§5) 1. () NITA M 200 E BE R 50036, 00 0 B A T
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3—3 _E§1t§$0)ﬂi$ﬁ]ﬁ§0)ﬁ¢§1t(2) (4Q)%No>
H . — Jazhes ALY (ppm)
w | 0| No e it | 2445 R [ 254EFE | 264EE | 274 | 284
58 [#h g i £ | 0.004 | 0.003 | 0.003 | 0.003 | 0.002
59 | #7H Fe R £ | 0.004 | 0.004 | 0.003 | 0.003 | 0.003
il 60 | 7 X e 4 | 0.003 | 0.003 | 0.002 | 0.002 | 0.002
T 61|t it = {F & | 0.003 | 0.002 | 0.002 | 0.002 | 0.002
62 |fh /7 IR # | 0.005 | 0.004 | 0.003 | 0.003 | 0.003
Ji 63 | &5 B # | 0.003 | 0.002 | 0.002 | 0.002 | 0.002
64 |74 H # | 0.003 | 0.002 | 0.002 | 0.001 | 0.001
65 [ #AH) F # | 0.003 | 0.003 | 0.002 | 0.002 | 0.002
66 | A B o £ | 0.003 | 0.003 | 0.002 | 0.002 | 0.002
67 [ A B L # | 0.004 | 0.003 | 0.003 | 0.003 | 0.003
ANTHT | 68| AREEIER A | {...1.0.004 | 0.003 | 0.003 | 0.003 | 0.003
e 69 [ A B HL IR £ | 0.004 | 0.003 | 0.003 | 0.002 | 0.002
70K EEE R £ | 0.003 | 0.002 | 0.002 | 0.002 | 0.002
71| B HEALR B | 0.003 | 0.002 | 0.002 | 0.002 | 0.002
72| FEHSH £ | 0.003 | 0.003 | 0.002 | 0.002 | 0.002
PR T — nBEEEL £._].0.002 [(0.001)| 0.001 | 0.001 | 0.001 |
Eis T4|BHAN A T. | 0.007 | 0.007 | 0.007 | 0.006 | 0.007
75| FEE 4 | 0.002 | 0.002 | 0.002 | 0.001 | 0.002
76 | HEHE # | 0.002 | 0.003 | 0.001 | 0.001 | 0.001
=241 77| & AR 1 0.004 | 0.003 | 0.003 | 0.002 | 0.002
it 78| EHUN G & | 0.001 | 0.001 | 0.001 | 0.001 |(0.001)
FET 79| EBUHT # | 0.001 | 0.001 | 0.001 | 0.001 | 0.001
4ax 80| A ORI f£ ] 0.002 | 0.001 | 0.001 | 0.001 | 0.001
" ekt 818k 7% (£ (0.001)| 0.001
s 82 |k FH K 7K # | 0.003 | 0.003 | 0.002 | 0.002 | 0.002
o F 83 Ei?EEfll?é%i 51; 0.001 | 0.001 | 0.001 | 0.001 | 0.001
mo| e S4B HANEES ] f¥...1.0.002 | 0.002 | 0.001 | 0.001 | 0.001
85|k A+ # | 0.001 | 0.002 | 0.001 | 0.001 | 0.001
i FO P 86 |FI 74 mi4b £ | 0.005 | 0.005 | 0.004 | 0.005 | 0.003
G il 87|Fktp il & £ | 0.003 | 0.003 [ 0.002 | 0.002 | 0.002
5 HHT 88| EkE £ | 0.007 | 0.006 | 0.005 | 0.004 | 0.004
ST 89K LB/ £ 10.002 | 0.002 [ 0.002 | 0.002 | 0.002
Ju | [HEEHT 90 |[TLEEFE # | 0.001 | 0.001 | 0.001 | 0.000 | 0.000
4+ AR 91 [FEZ A Z & | 0.002 | 0.001 | 0.001 | 0.001 | 0.001
U\l 92 [\ J\ £ £ | 0.003 | 0.003 | 0.002 | 0.002 | 0.002
B Hem 93| H 4 - £ 10.003 | 0.002 [ 0.002 | 0.001 | 0.001
B PR T 94 | /)i = il ES 0.003 | 0.002 | 0.002 | 0.002 [ 0.001
Fi1 —ETHT 95| E HUR I, # | 0.001 | 0.001 | 0.001 | 0.000 | 0.000
M 96 [/ NI & 1 0.000 | 0.001 | 0.000 | 0.000 [ 0.000
A | BT o7 |fiE 1 LI JE & | 0.001 | 0.001 [ 0.001 | 0.000 | 0.000
i | SEEWT 98 |#E e N e /AN & 10.002 | 0.001 [ 0.001 [ 0.001 | 0.001
RN ] 0.004 | 0.004
g BHETE] £ | 0.003 | 0.001 | 0.002
et B INASR £ | 0.001 | 0.001 | 0.001
' 1A ] * 0.002 | 0.003 | 0.002
1E (SRS F | 0.001 | 0.001 | 0.001
BEAEN * 0.001 | 0.001 | 0.002
il Bk 1 £ | 0.001 | 0.001 [ 0.002 [(0.001)
/B &R ERRE # |.0.001 | 0.001 | 0.001 | 0.001
ST Sl & 1 0.003 | 0.003 | 0.003 | 0.003
WEE (20 EJs) 0.004 | 0.003 [ 0.003 [ 0.003 | 0.003

(fifi %)
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3—3 —BILtEZFOETHEDRELEIL(3)

(HBERNO)
Hh . - FHi& Y (ppm)
w | 1| No e R Wit | 244 | 2545 | 2645/ | 274EE | 28HEJE
BH | BHEA 1|87 H e IR () & | 0.054 | 0.050 | 0.046 | 0.042 | 0.037
P 2|V LB () £ | 0.011 | 0.010 | 0.009 | 0.009 | 0.007
H 3| FAE(EE) f£ | 0.021 | 0.020 | 0.016 | 0.013 | 0.011
Lisnifl AR 75 L (F) £ | 0.012 | 0.012 | 0.009 | 0.008 | 0.007
7 5 R E () f£ | 0.033 | 0.031 | 0.028 | 0.027 | 0.023
] 6| kA= E A () 75 | 0.024 | 0.023 | 0.022 | 0.020 | 0.019
7| (EE) pE | 0.018 | 0.016 | 0.013 | 0.012 | 0.012
)T 8| AT FE(HT) £ | 0.015 | 0.013 | 0.013 | 0.012 | 0.011
% 9| i) 1A e () f£ | 0.012 | 0.011 | 0.009 | 0.010 | 0.009
i 10| 7/ 22 () £ | 0.014 | 0.012 | 0.012 | 0.011 | 0.010
T 11| AE AR () ¥ T | 0.019 | 0.018 | 0.017 | 0.015 | 0.014
3] 12| B o> Hi(HE) #T | 0.025 | 0.023 | 0.021 |0.019 |0.017
AR 13\ FARF EGE) f£ | 0.010 | 0.010 | 0.009 | 0.008 | 0.007
B E 14 =R PPk EL(R) £ | 0.011 | 0.012 | 0.012 | 0.010 | 0.010
15| THE T3 () pE | 0.022 | 0.022 | 0.018 | 0.010 | 0.006
T 16| THETEH(H) £ | 0.022 | 0.020 | 0.018 | 0.016 | 0.015
T 17| T2 Y (H) 75 | 0.014 | 0.012 | 0.011 | 0.009 | 0.010
18| THEE BF AR (H) £ | 0.014 | 0.013 | 0.011 | 0.010 | 0.010
e 19| FHEEW(H) P | 0.019 | 0.017 | 0.016 | 0.015 | 0.014
oy =il 20\ Ve il F(H) £ | 0.027 | 0.025 | 0.022 | 0.020 | 0.020
- R 21 | i 5 (D) £ | 0.005 | 0.004 | 0.003 | 0.003 | 0.003
g | wri 22 %ﬁ&?ﬁ%&iﬁ(ﬂi) ¥ | 0.009 | 0.008 | 0.008 | 0.008 | 0.007
23|l i AR (HD) | Zoofh | 0.003 | 0.004 | 0.004 | 0.003 | 0.003
A K 24 | R B HGE VE () £ | 0.011 | 0.010 | 0.008 | 0.008 | 0.008
H 25 | R B A4S () ZDfh| 0.006 | 0.005 | 0.005 | 0.004 | 0.004
B | kT 26| % H LR () ¥ | 0.024 | 0.023 | 0.020 | 0.018 | 0.015
BelLs | B Ay il St 4)) = () ZDfh| 0.008 | 0.006 | 0.006 | 0.008
VLS8 CAZhEIE ) 0.017 | 0.016 | 0.014 | 0.013 | 0.012

({=5) 1. C ) PUSARRAZhEE RE R 236, 00 0 ] Al
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3—4 —BILRFOETHEDRELIL (*Q}%CO)

ol - & A B (ppm)

w | | No HER Hidsl 244 (254 [26 4R [0 T4EJEE [ 28 4R
e | M 1|2 & 0.4 0.4 0.4 0.5 0.5
i | iR 2| AR A E 0.3 0.2 0.3 0.2 0.2

. R 3|5k RIS K EN 0.2 0.2 0.2 0.3 0.3
PR | T 4|k IS % | 02 | 02| 02] 02] 02

VL2 IME (A 2hiE J5) 0.3 0.3 0.3 0.3 0.3
(HHERCO)

H o — FH )l (ppm)

g | MM | No WIER i (24t [ 25 BRI | 26 HEEE | 27 4R [ 284
PP | BT 1| B B IR (F) PN 0.4 0.3 | 0.3 0.2 0.2

0 e 2P LA () E2 0.4 0.4 | 0.4 0.3 0.3

s 3| FANH(H) = 0.4 0.4 | 0.4 0.3 0.3

% AR R e (H) 52 0.3 0.3 | 0.3 0.2 0.2

AT 5 A AR (E) il 0.5 0.4 | 0.3 0.3 0.3
6| i) 1) 1 (HE) P 0.5 0.5 | 0.5 0.5 0.4
" i)l 7 NAT#E(ED) fE 0.4 04 | 0.4 0.4 0.3
8 |7 1 & (H) Ea 0.4 0.4 | 04 0.4 0.4
iEk2ain] 9 VR 22 ¥ (H) fE 0.3 0.3 | 0.3 0.3 0.3
T 10| e A (H) Wl | 04 | 04 | 04 |04 | 04
s 11 [ fiHE B o H(H) T | 0.4 0.4 | 0.4 0.4 0.3
i il 12 |8 B 4) & () ZDfh| 0.4 0.4 | 04 0.4 0.3
J\ TR 13\ TS ) £ 0.3 0.3 | 0.3 0.3 0.3
14| THETZEHR(H) P 0.5 0.5 | 0.5 0.4 0.4
T | FEEdH 15| FHETEA(H) * 0.5 0.5 | 0.4 0.4 0.4
3 16| TIEED(H) P 0.5 0.5 | 0.5 0.4 0.4
=il 17\Pe Al T (E) {E 0.5 0.4 | 04 0.4 0.3
+ T 18| i f - (H) E2 0.4 0.4 | 0.3 0.4 (0.3)
B | it 19 %Eh’fﬁ{?&.ﬂzﬁ(i) £ 0.3 0.3 | 0.3 0.2 0.2
20 [ fl R EAR(E) | Zoofil] 0.4 0.3 | 0.4 0.3 0.3
B | Rk T 21 | Bk HAEIR(HE) E2 0.4 0.4 | 04 0.4 0.4
VL2 (A ShNE ) 0.4 0.4 0.4 0.3 0.3

W2 1. () IR 2T I 56, 000 W Fi At
9. &AL AE
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3—5 RIEZAFIHAUEORRED1EREN0120pml LD BEHOBRELEIL(T)

(— B H50x)

Hht . e FAi& B O 1R RE230.12ppmd EO R (H)
| T No HE S Ml [ 244 [ 25 R [ 26 B [0 TR | 28 A JE
g W 1| %5 H A A * 5 4 5 6 0
H 2| B [ 1 B * 6 6 6 9 0
P LT 3|k (LR & [E2 2 4 2 4 0
i 4|k A F 3 3 (2) 3 0
28 i SlFA K== (ES 3 2 2 6 0
B 6 | A AR A P 2 1 0 1 0
KT ULERERS £ 3 2 0 1 0
8lIA A K Ea 3 3 0 3 0
o| il KBy * 5 4 3 5 0
il 10| 1A\ i £ 3 5 3 3 1
11| ) 1A TAE R AL * 3 4 2 1 0
iikzalin] 12 [T 2 52 il 2 2 0 1 0
u 13| ARtEHRIN x 4 3 2 5 1
14| ptEE s ZOM| 2 2 3 6 0
_________ ISR Lol 4 2 |0 | .3 [ 0 |
fiE T 16 E}%@E Zofh| 3 5 2 4 0
17 | WetE =R & (Ea 2 2 0 6 0
AsinERE AR A 3.0 {4 1.0
s 19 [fivtE A2 (ES 3 3 0 1 0
20 | A4 pE AT ES 3 4 1 2 0
i Wil 21 B R A 2 2 1 4 0
_— 22|\ TFREE (ES 4 2 2 6 0
AP 23|\ TR A f 2 0 1 2 0
BB 24| B ERER x 4 4 1 5 1
25| THEAL FLI * 3 2 0 3 0
26| T2Em A1 * 3 4 1 1 3
L2t FELE L2 2.1 (310
28| THERHFR ¥ 3 3 1 5 1
29| FEEKRE * 1 4 1 4 0
T 0| FETIHA * 1 1 1 3 0
T 31| THEL DAL * 3 0 2 3 0
crd s 11 I U =S 2] 41,0 1.2 1.0
1E 33| TIEAD (ES 2 3 3 4 0
34| THERHE (B2 2 1 1 2 0
35| TEED * 4 5 2 5 3
PULEE T 36 | VU IE B E 2 0 2 3 0
37 |1 B TR H ZOM| 2 1 2 1 0
=] 38 |1 A H ZoM| 1 0 1 3 0
39|{= B ELHR ZOM| 1 0 2 2 0
40 [T U\ I * 3 3 3 5 0
41| THIF I * 2 7 4 4 0
A WY1 T NN <O O S S.l..2 (.2 |1
i 43 @ﬁﬁﬂi@ ZN 1 0 2 3 0
R 44 TJE?EEJ#F' IS 0 3 0 3 0
7S I S A5\ Ty ] KoL 2 .. 2. |1 2. 0.
A6 | T A IRy v YT 3 2 1 5 0
AT T RERAS (Ea 2 3 1 1 0
A8 THUIREY ofh| 0| Ao 10 .0
49| 750 E 0 2 2 1 0
(%) 1. () PNIEEE O A 200 E e R 2433, 75 0 R ) AT
2. ABEFRAE
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3—5 RIEZAFIHAUEORRED1EREN0.120pmLl LD BHDOBRELEIE(2)

(— %R O0x)

Hh . N Jazhes B O 1R REA30.12ppm L OB (H)
g | M| No HER i [ 244 [ 258/ [ 2645 [2T4E /% | 28/
50|t RS T i £ 1 2 0 4 1
51 |#h R IR £ 1 3 0 0 0
(LI R s2lmbh s 7N - N 5 | 1ol.2. 1. 0.
- 53[#l i = ME * 0 4 2 2 0
(AL IR Hey 1 o | s | 1] 1] o
Ji | S5|mhomisdrm | R |1 | 3 | 1 [ 2 | 0 |
56 | il 7k FS 0 0 1 2 0
57 [l i E I *x 0 4 2 1 0
58 [ A B o (Ea 1 4 2 3 1
- SOIRFHIE B * 0 0 0 3 0
ARR solkmmr | |1 |4 Lo |1 | o
& BLIARHHEHER E 0 3 1 0 0
62 | FE A LR ] 1 5 2 1 0
i 63| F A M * 0 1 0 1 0
AHEH G4 EEEAR | T |0 5 N T O I 0.
65| A HiEH P 0 2 1 1 0
66 [ HEH H i 0 4 1 3 0
B 67| E A T AR * 0 2 2 0 0
68| 7% BUN % P 0 0 0 0 0
el =it 69| & IR A ES 0 2 1 0 0
SR TO\FEHE | . 0| 0| . 2 1.0 | . 0.
% 71 EBCHAR) £ 0 1 1 0 0
k7 72|18k 12 E (0) 0
73| Al H RIE K P 0 0 3 3 0
N 74| HIEA IS 0 0 3 0 0
PR T 75 |k L L 5 f 2 0 5 3 0
FH 76| M+ *x 0 0 1 4 0
2L 7702 L H A 0 0 1 2 0
e FO e 78|F7E =i 4L * 1 4 1 4 0
B it 79|FeFe At & * 4 3 2 6 0
7§ =Eaaiil 80| LKA 1 3 2 1 6 0
SEHT M ES -4 E 3 1 5 3 0
Ju | ImEET 82| BEFE * 0 0 0 0 0
+ | BZOEET 83 [HH 2 A *x 0 0 0 0 0
U I\t 84\ f i\ 4 £ 1 0 4 2 0
B | #Hem 85| H 43 |- E 0 0 1 1 0
B At 86 | /% 5 il i 0 0 0 0 0
H — BT HT 87| = MR AL i 0 0 0 1 0
a2l Ml 88| I/ * 0 0 0 0 0
I 111 89| fif [ 7 PN 0 1 0 0 0
SRR 90|#Emd T /A x 0 2 2 0 0
o (=8 VNN £ 0 2 0
[=8E 955 B LR i) * 0 0 0
I B e *x 0 0 0
ki kT £ 0 0 0 (0)
. mEREES * 3 3 0 (0)
3| T Ak gl 1 131 21 @
(%) 1. () NI B O A 20 E RER £33, 750 R A i
2. AEIIARHE
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